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Write the polynomial function of 

Degree 1: 

Degree 2: 

Degree 3: 

The simplest polynomial functions are called ________________ functions, ( ) nf x x=  

 

Graphs of ( ) 3f x x=  & ( ) 5f x x=  

 

Graphs of ( ) 3f x x=  & ( ) 5f x x=  

 

 

 

 

 

 

 

 

 



 #1.   Graph ( ) 3( 3) 2f x x= − + −  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 #2.   Graph ( ) 3 2 3 4f x x x x= + − −  on the 

graphing calculator and make observations. 

 

 

 

 

 

 

 

 #3.   Graph ( ) 4 3 24 3 18f x x x x x= + − −  on 

the graphing calculator and make observations. 

 

 

 

 

 

 

 

 

 



Domain of a polynomial function is always ______________________________. 

 

The Range of a polynomial function is  

_____________________ for odd degree. 

 ________________  ___  ____ /_____ for even degree. 

 

The number of “roots” or “zeros” is ___________________________ the degree of the polynomial. 

 

The number of “turns” is ________________________________ the degree of the polynomial. 

 

 

 
 

 #4.   Identify the degree of each polynomial pictured, and give the sign (+ or -) for the 

leading coefficient. 

 

 
 

 

 



 
 

 #5.   Graph ( ) 1f x
x

=  

 

  

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 #6.   Suppose a cost-benefit model is given by ( ) 18
106

x
f x

x
= −  where y is the cost (in 

thousands of dollars) of removing x percent of a certain pollutant.  The domain os x is the set 

of all numbers from 0 to 100 inclusive; any amount of pollutant from 0% to 100% can be 

removed.  Find the cost to remove the following amounts of the pollutant:  100%, 95%, 90%, 

and 80%.  Graph the function. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 #7.   Suppose the average cost per unit ( )C x , in dollars, to produce x units of yogurt 

is given by ( ) 600
20

C x
x

= + . 

a) Find and interpret ( ) ( ) ( ) ( )100 , 50 , 10 , & 1C C C C . 

b) Explain why ( )0C  doesn’t make sense to discuss. 

 


